Algebra 1

8.1 & 8.2 Introduction to Working with Exponents(\“) Date

Name

Period

8.1) Simplify. Your answer should contain only positive exponents.
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8.2) Simplify. Leave answers with improper fractions and negative exponents.
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Algebra 1 (ACADEMIC)

Name KEN} ID: 2

8.1 & 8.2 Intro to Working with Exponents (V2) Date Period

Simplify.
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21) Brenda traveled to her friend's house and back. The trip there took five hours and the trip back
took 4.2 hours. She averaged 52.5 mph on the return trip. Find the average speed of the trip
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Define Variable(s) — remember units:
M= Clﬁg_]&«"'qtl.,,).u. Specc! +o *Y—f't end s Cl'l-l‘oi‘\B

Define Equation(s):
To = Foapom
SX = 4,3 (52.8)

Answer {(in words) fr{\c‘:. Queread. ﬁoe&l on ‘Hnre ‘e o
44.1 mph Brenda's GFeiend was  44.1mph.

Solve:
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Algebra 1 (ACADEMIC) Name ID: 3

8.1 & 8.2 Intro to Working with Exponents (V3) Date Period
Simplify.
1) oK% sk 2) 3p° - 2p7'¢*

[ w3 Lp §)

—Sx;?/ Syx ;{”i Z g l 4) dba'ct  2a°*
25y - e | R albe’
2 2.4 a o 2 4.-5
S)Ixii,:z._z .L 2-(-) 2 L%q 6) - 4pq_r;
Sqr
xyz 4\ }mﬂ e -4 02,3 |
x )/ 5 l SF Z [
OR 5 — ————
Simplify. Your answer should contain only positive exponents. L L‘3 C
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